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Problem quickname: 6571

b

Calculate the result for each of the matrix cells.

Quick:
6571

a4 |6 | 662 | -125 | 242
327 | -429 | 989 | 202 | 569
124 | -880 | 538 | -249 | 118
96 | -660 | 758 | -29 | 338

- 343 | -581 | -6 | 488
315 | 28 | 266 | -309 | -803
241 | 584 | 822 | 247 | -247
369 | 712 | 950 | 375 | -119

Of + T 669 | 520 [ 777 | 552
582 | 87 | -62 | 195 | -30
598 | 71 | -78 | 179 | -46
558 | 111 | -38 | 219 | -6

DT 2T 261 | 420 | 794 | 566
653 | -392 | -224 | 141 | -87
476 | -215 | -47 | 318 | 90
424 | <163 | 5 | 370 | 142

2)

Quick:
6571
Calculate the result for each of the matrix cells.

A [ 7 Tao [ 2] P+ T3 |5 | 7
32 | 39 | 81 | 54 5 | 41 | 60 | 78
2 | 29 | 71 | 44 4 | 40 | 59 | 77
18 | 25 | 67 | 40 12 | 48 | 67 | 85
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3)

a)

Solutions to smp-6571-3/HGIG

+ 19[4 2] 9 +19 /3 ]e6s
43 | 62 | 88 | 63 34 | 43 | 71 | 97
54 | 73 | 99 | 74 21 | 30 | 58 | 84
3 | 22 | a8 | 23 24 | 33 | 61 | 87
Calculate the result for each of the matrix cells.
+ 136 [ 282t | P+ 2] 7]:2
8 | 44 | 36 | 29 27 | 47 | 34 | 29
7 | 43 | 35 | 28 1 | 21| 8 | 3
+ 3 [30 [0 V- Taliu]-:
14 | 49 | 44 | 24 41 | 19 | 30 | 39
9 | 44 | 30 | 19 32 | 10 | 21 | 30

4

Calculate the result for each of the matrix cells.

a)

+ | 700 | 787 | -556 | 522
-186 | -886 | 601 | -742 | 336
123 | -823 | 664 | -679 | 399
162 | -862 | 625 | -718 | 360
D) [ 758 | 357 | 422 | -547
304 | 454 | 53 | 118 | -851
425 | 333 | -68 | -3 | -972
80 | 838 | 437 | 502 | -467
of - 639 | -322 | 780 | -562
242 | 881 | 564 | -538 | 804
2200 | 439 | 122 | -980 | 362
256 | 895 | 578 | -524 | 818
D+ T 316 | 253 | -591 | -99
96 | 220 | 157 | -687 | -195
320 | -4 | -67 | -911 | -419
312 | 628 | 565 | -279 | 213
Good Luck!
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